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Reasons Why Fundamental Accounting Concept1 Test Fails 

IS5 

Income (Loss) from Continuing Operations after Tax = Income (Loss) from Continuing Operations 

Before Tax - Income Tax Expense (Benefit) 

 

What this rule tests 

This rule tests the relationship between three very common line items of a financial report: 

 Income (loss) from continuing operations before tax 

 Income tax expense (benefit) 

 Income (loss) from continuing operations after tax 

If a reporting entity has no income tax expense (benefit) line item then the value is imputed to be zero 

and then income (loss) from continuing operations before and after tax are the same values. 

Of a total 9679 financial reports examined, 9,109 reporting entities, 94% of the total, conformed to this 

relationship pattern.  A total of 291, 3% of that the total, do not conform to this pattern.  Of the 3% 

which did not conform to this relation, the following is a summary of the reasons: 

 Entered  value for income tax expense (benefit) in reverse (approximately 6% of filers that do 

not conform make this mistake) 

 Other issues 

 

 

Common reasons why test fails 

 

Entered value for income tax expense (benefit) in reverse  

The filing below shows income tax expense (benefit) entered in reverse (a credit entered as a debit; or a 

debit entered as a credit).  See the income statement of this filing: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1368007&accession_number=0001368007-13-

000016&xbrl_type=v#  

                                                           
1
 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1368007&accession_number=0001368007-13-000016&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1368007&accession_number=0001368007-13-000016&xbrl_type=v
http://fundamentalaccountingconcepts.wikispaces.com/
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Income tax expense (benefit) is a DEBIT.  This looks correct, but it is not. 

 

When the XBRL instance was created, the value was entered as a NEGATIVE effectively change the 

amount to a CREDIT 
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And then the filer negated the presentation relation so that it shows up as a POSITIVE value in 

renderings: 

 

Whereas, if the filer entered this as a POSITIVE, the relation would have worked, no negated label would 

have needed to be created. 
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Other issues 

This filer provided two line items for income tax expense (benefit), creating an extension concept to 

express part of the total, thus redefining the total: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=837490&accession_number=0001354488-12-

003655&xbrl_type=v#  

 

 

 

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1402945&accession_number=0001213900-13-

001559&xbrl_type=v#  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=837490&accession_number=0001354488-12-003655&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=837490&accession_number=0001354488-12-003655&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1402945&accession_number=0001213900-13-001559&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1402945&accession_number=0001213900-13-001559&xbrl_type=v
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The filer line item “Total income tax benefit (expense) is a benefit, which is a CREDIT. 

 

However, the filer entered this as a POSITIVE number (DEBIT). 

 

Therefore this filing does not conform to this test. 

 

 

 



6 
 

This economic entity used a concept intended for the cash flow statement, us-gaap:IncomeTaxesPaid, 

on the income statement: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1350773&accession_number=0001213900-14-

005936&xbrl_type=v#  

 

 

 

A handful of reporting entities made this mistake. 

 

  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1350773&accession_number=0001213900-14-005936&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1350773&accession_number=0001213900-14-005936&xbrl_type=v


7 
 

This filer reported the line item “Total other income (expense) represented by the concept us-

gaap:NonoperatingIncomeExpense after tax.  This is the only entity I have run across which does this.  

This seems like an accounting error.  Consider the income statement of this report: 

 http://www.sec.gov/cgi-bin/viewer?action=view&cik=1467560&accession_number=0001477932-11-

001651&xbrl_type=v#  

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1467560&accession_number=0001477932-11-001651&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1467560&accession_number=0001477932-11-001651&xbrl_type=v

